Try adding 10 to each of these numbers.
Remember, the ones will stay the same. 

12 + 10 =			54 + 10 =			41 + 10 =

32 + 10 =			37 + 10 =			53 + 10 = 

45 + 10 = 			78 + 10 = 			36 + 10 =



Try adding these multiples of ten to each number.
Use your 100 to help you, remember to look at the number below.

27 + 20 =			36 + 10 =			57 + 20 = 

28 + 10 =			22 + 20 =			41 + 10 = 

34 + 20 =			31 + 30 =			56 + 30 =



Some of you might try these missing number questions. 


__ + 10 = 34		35 + __ = 85		32 + __ = 72

__ + 20 = 67		21 + __ = 41		__ + 40 = 99

35 + __ = 65		__ + 20 = 76		__ + 20 = 45


An extra ‘reasoning’ challenge:
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Can you complete the grid above so that all
horizontal and vertical lines equal 60?

Can you create another pattern on an empty grid
where each line equals 60?

How many possible ways are there to solve this?
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